Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Java Programming
Subject Code : 2TE05JVP1 Branch: Diploma (CE)
Semester : 5 Date : 05/12/2018 Time :10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) Javawas first developed in

i.1990 ii.1991 iii.1993 iv.1996
b)  Full form of ADT is

I. Abstract definition type ii. Abstract data type

iii. Abstraction data type iv. Abstract data toolkit
c)  When the source file is successfully compiled generated.

i. output ii. bytecode iii. error iv. none of these
d) Maximum value of byte is

i.16 ii.8 ii.127 iv.128
e)  The old name of Java was

i j language ii.oak
iii. Java script iv. none of these

f)  The syntax of main() method of Java program is
I. public void main(String args)
ii. public static void main(String args)
iii. static void main(String args[])
iv. public static void main(String args[])

g)  The implicit type conversion of int data type can be done to data type.

I. byte ii. char iii. short iv. long
h) ifa=10,b=20,then a++ + --b=

i.30 .29 ii.31 iv.32
i)  Full form of JDK is

I. Java development kit ii. Java definition kit

iii. Java data kit iv. Java declaration kit

j)  Tocreate an array of 5 integers which statement is correct?
I int a[]=int[5];
ii. int a[5]=new a[];
iii.int a[]=new a[5];
iv. int a[]=new int[5];
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A recursion occurs when

I. a constructor calls a method

ii. a method calls itself

iii. a method calls another method

iv. a constructor calls another constructor

To compile a Java program, command is used.

i. javac ii. java iii. compile iv. debug
Before doing garbage collection, method is called.

i. main() ii. finalize() iii. final() iv. collect()
To inherit from a class keyword is used.

I. inherits ii. extends iii. uses iv. implements

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-6

Q-8

()
(b)

()
(b)

()
(b)

()
(b)

()
(b)

(a)
(b)

()
(b)

Attempt all questions
Explain JVM with proper diagram.
Explain different OOP concepts in Java in detail.

Attempt all questions

What is an interface? How to declare an interface in Java? Explain interface with
proper example.

What is Java? Explain buzzwords of Java.

Attempt all questions
Explain Wrapper class in detail.
What is constructor? Explain parameterized constructor with suitable example.

Attempt all questions
What is inheritance? Explain multiple inheritance with suitable example.
What is thread? Explain Java thread class with its methods.

Attempt all questions

Explain final class in Java with suitable example.

What is method overloading in Java? Write a Java application that implements
method overloading.

Attempt all questions
Explain different types of Java Exceptions,
Write a short note on Super keyword of Java.

Attempt all questions
Write a short note on stream in Java.
Write a Java application to make a simple calculator using switch case.

(14)

(14)

(14)

(14)

(14)

(14)

(14)
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d)

€)

f)

9)

h)

1)

K)

Attempt the following questions:

ogtell Ay U Ui [QAsAlclaHi 1) &,

.1990 i1.1991 iii. 1993 iv.1996
A Elef Ayul zu B.

i, Aose gt eLesfy ii. Wopse Sel ey

iii. Ao st 32l 2TU iv. Blogse 3al gelse

R AR s18c UsOAYds s1ruse a8, gl Ul B.
i uBaye TRAEEIS iii. AR iv. olot
WLB2e] HETIH HEU 8.

i.16 ii. 8 iii.127 iv.128

oslclla] oo ollH ed

i . el TRME iii. ot @3 iv.olot

ostell WaltHoll Aot () Ugldo] cllsuR Ul &
i Wods clgs AeSat (Lot vl

i. Wods R(2s Ales NeSot (R AT
iii. (25 lBys At (RZ[o1 AULIU))

iv. Wods R2s Ales NeSat (RFLo1L vUoLU[])

o2 el UsRall 80ARe UsR 3Ulcr 32l ystRMi s3l asia .
i, slge ii. 32 iii. 2l iv. oL
°ca2;l=10,0ﬂ=20, AR +++-0fl =

.30 ii.29 iii. 31 iv. 32
JDK of Aygl 23U ®

i, ostell SaduRe2 (52 ii. ostell 35l Sle

iii. ostell 32t (3e iv. ostell (3sctRaet (32

5 YR({5le{l AR lotlaiall M2 B RAAEat ALY B?
i.inta[]=int[5];

ii.inta[5] =newal];

iii. inta[] = newa[5];

iv. inta[] =new int[5];

o2 R5et AU D

i. 5252 Ws Ugld o clcld ®

ii. A5 Ugld Wcllal ollcd &

iii. Ul olly uglda cdlcua ®

iv. 50252 ollosl S s22a AL B

oglall YIoULH ASEst, ALE 2l GU0L A 8,

i ostalRll ii. stall iii. STUBA iv. (3oLl

(14)
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Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

auoles sAsAet UL, Ugld sdauui 21 8.

i. AeSal () ii. LA () iii. $LESalc () iv. 5As2 ()
sclHiell Sodile sal slatdall GUALDL sRAUHL WA 8.

i. Sod3lau ii. AsASo5AU iii. YR iv. SruAAU

Attempt any four questions from Q-2 to Q-8

Attempt all questions
IVM ol LA A AHes Al

el Ml (Q[AY OOP o2 UHLA.

Attempt all questions

Boe5U 9 B2 82U 5cll A 182 5¢? Ao BEIEL AULA BoeFU AU

ol 9 B? wtellotl oS U AHHAl

Attempt all questions
2UR ool (Aot ez AHestAl.

soeg5eR 9 87 Ao Gele0L WA WRAMeINRS 502522 AHMLAL.

Attempt all questions
SodReo 9 B2 BEleW U HERUA SodRest UHN1A.

s 9 B2 stall A5 scllA Aol ugld WA AHestal.

Attempt all questions
2002 GELERLL U tell Hi [AH ol UMt

(14)

(14)

(14)

(14)

(14)

oglellH AYUS WARAUSIL 9 B? stall WAB et Avll B NS W ARAUSIL ALd) 53 B.

Attempt all questions
o €L Y EL USLRall el AUUALELlR AHLA.

gLl JUR Slatd UR g5l Aull.

Attempt all questions
ot cllHl FIH UR 5ot cAul.

2l Bell GuAL 531 AR SesyAeR tlollelall IR el ARAZ et AUl

(14)

(14)
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